Exercise 11- 7A

a.
Total estimated overhead cost / Total estimated machine hours

$500,000/125,000 = $4 per machine hour

b.
$4 x 140,000 actual machine hours = $560,000 of overhead applied to work in process.

Exercise 11-8A

	a.
	Total expected overhead costs
	
	

	
	––––––––––––––––––––––––––––––
	 =
	Predetermined overhead rate

	
	Total expected units
	
	

	
	
	$450,000
	
	

	
	Predetermined overhead rate =
	–––––––––––
	 =
	$1.50 per unit

	
	
	300,000
	
	

	
	
	
	
	

	b.
	Allocated cost
	 =
	Predetermined overhead rate x Weight of base

	
	
	 =
	$1.50 x 24,000 units

	
	
	 =
	$36,000

	
	
	
	


c. Overhead costs would be overapplied by $1,000 (i.e. $36,000 – $35,000).

Exercise 11-12A

Raw Mat. Inventory
W-I-P Inventory

	
60,000
	(a) 44,000
	
	(a)
44,000
	16,000

	
	
	
	
32,000
	

	  16,000
	
	
	
24,000
	

	
	
	
	(c)  84,000
	


Finished Goods Inventory
Cost of Goods Sold

	16,000
	(d) 14,000
	
	(d)
14,000
	

	
	
	
	
2,000 adj
	

	2,000
	
	
	(e)
16,000
	


Manuf. Overhead

	(b)26,000
	
24,000
	
	
	

	
	
	
	
	

	   
2,000
	
2,000 adj
	
	
	


Exercise 11-13A

	Murphy Company  Income Statement

(Absorption Costing)

	Revenues
	
	$90,000

	Cost of Goods Sold
	
	

	Direct Materials (1)
	$(20,000)
	

	Direct Labor (2)
	(14,000)
	

	MOH (3)
	(16,000)
	

	
	
	(50,000)

	Gross Margin
	
	40,000

	S & A Expenses (4)
	
	(12,000)

	Net Income
	
	$28,000

	
	
	


 (1)
Direct materials-$20/unit x 1,000 units = $20,000

(2)
Direct labor-$14/unit x 1,000 units = $14,000

(3)
MOH-$16/unit x 1,000 units = $16,000

(4)
Variable S&A-$4,000


Fixed S&A-$8,000

b.

	Murphy Company  Income Statement

(Variable Costing)

	Revenues
	
	
	
	$90,000

	Cost of Goods Sold
	
	
	
	

	Direct Materials (1)
	
	$(20,000)
	
	

	Direct Labor (2)
	
	(14,000)
	
	

	Variable MOH (3)
	
	(6,000)
	
	

	Variable S&A 
	
	(4,000)
	
	

	
	
	
	
	(44,000)

	Contribution Margin
	
	
	
	46,000

	Fixed MOH
	
	
	
	(15,000)

	Fixed S&A Exps.
	
	
	
	(8,000)

	Net Income
	
	
	
	$23,000

	
	
	
	
	


(1)
Direct materials-$20/unit x 1,000 units = $20,000

(2)
Direct labor-$14/unit x 1,000 units = $14,000

(3)
MOH variable-$6/unit x 1,000 = $6,000
c.
The manager’s bonus under absorption costing would be $560 (.02 x $28,000).  Under variable costing, the manager’s bonus would be $460 (.02 x $23,000).    The variable costing approach would be recommended for internal reporting.  Using the absorption costing approach, managers can hide fixed costs in ending inventory in order to increase profits and bonuses.  This is accomplished by producing more than they sell.  When production is greater than sales, only the fixed cost associated with units sold gets expensed.  Under variable costing all fixed cost is expensed eliminating the opportunity to manipulate profits.

Problem 11-16A

	Cash
	
	Raw Materials
	
	Work in Process
	
	Finished Goods
	
	Common Stock

	(1)
3,000
	(2)
480
	
	(2)
420
	(3)
240
	
	(3)
240
	(9)
1,272
	
	(9)
1,272
	(10)
954
	
	
	(1)
3,000

	(10)
1,620
	(4)
768
	
	(12)
3,900
	(13)
3,000
	
	(4)
768
	
	
	(19)
12,084
	(21)
10,812
	
	
	(11)20,000

	(11)
20,000
	(6)
144
	
	Bal.
1,080
	
	
	(5)
264
	
	
	Bal.
1,590
	
	
	
	Bal.
23,000

	(21)
18,360
	(7)
24
	
	
	
	
	
	
	
	
	
	
	
	

	
	(8)
210
	
	
	
	
	(13)
3,000
	(19)
12,084
	
	
	
	
	Retained Earnings

	
	(12)
4,800
	
	
	
	
	(14)
8,640
	
	
	
	
	
	
	(23)
6,078

	
	(14)8,640
	
	
	
	
	(15)
2,970
	
	
	
	
	
	
	Bal.
6,078

	
	(16)
1,560
	
	
	
	
	Bal.
2,526
	
	
	
	
	
	
	

	
	(17)
240
	
	
	
	
	
	
	
	
	
	
	
	

	
	(18)
2,400
	
	
	
	
	
	
	
	
	
	
	
	

	Bal.
23,714
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	Revenue

	
	
	
	
	
	
	
	
	
	
	
	
	(23)
19,980
	(10)
1,620

	Manufacturing Overhead
	
	
	
	
	
	
	
	
	
	
	
	(21)
18,360

	(7)
24
	(5)
264
	
	
	
	
	
	
	
	
	
	
	
	

	(8)
210
	(15)
2,970
	
	
	
	
	
	
	
	
	
	
	
	

	(17)
240
	(22)
432
	
	
	
	
	
	
	
	
	
	
	Cost of Goods Sold

	(18)
2,400
	
	
	
	
	
	
	
	
	
	
	
	(10)
954
	(23)
12,198

	(20)
792
	
	
	
	
	
	
	
	
	
	
	
	(21)
10,812
	

	Bal.
0
	
	
	
	
	
	
	
	
	
	
	
	(22)
432
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	Selling & Admin. Exp.

	Production Supplies
	
	
	
	
	
	
	
	
	
	
	(6)
144
	(23)
1,704

	(2)
60
	(20)
792
	
	
	
	
	
	
	
	
	
	
	(16)
1,560
	

	(12)
900
	
	
	
	
	
	
	
	
	
	
	
	
	

	Bal.
168
	
	
	
	
	
	
	
	
	
	
	
	
	


Problem 11-16A (continued)

b.

	McDory Manufacturing Company

Financial Statements for 2007

	Cost of Goods Manf. and Sold
	
	Income Statement
	
	Balance Sheet
	
	Statement of Cash Flows
	

	
	
	
	
	
	
	
	
	
	
	
	

	Beg. Raw Mat. Inv.
	$        0
	
	Sales Revenue
	$19,980
	
	Assets
	
	
	Oper. Activities
	
	

	Purchases1
	4,320
	
	Cost of Goods Sold
	(12,198)
	
	Cash
	$23,714
	
	Inflow from Rev.
	$19,980
	

	Raw Mat. Avail.
	4,320
	
	Gross Margin
	7,782
	
	Prod. Supplies
	168
	
	Outflow for Inventory4
	(17,562)
	

	End. Raw Mat. Inv.
	(1,080)
	
	Sell. & Admin. Exp.
	(1,704)
	
	Raw Mat. Inv.
	1,080
	
	Outflow for Sell. & Adm.5
	(1,704)
	

	Raw Mat. Used
	3,240
	
	Net Income
	$ 6,078
	
	W-I-P Inv.
	2,526
	
	Net Inflow from Oper.
	714
	

	Labor2
	9,408
	
	
	
	
	Fin. Goods Inv.
	1,590
	
	Investing Activities
	0
	

	Overhead3
	3,666
	
	
	
	
	Total Assets
	$29,078
	
	Financing Activities
	23,000
	

	Total Manf. Costs
	16,314
	
	
	
	
	
	
	
	Net Change in Cash
	23,714
	

	Beg. W-I-P Inv.
	0
	
	
	
	
	Equity
	
	
	Beginning Cash Balance
	0
	

	Total W-I-P Inv.
	16,314
	
	
	
	
	Common Stock
	$23,000
	
	Ending Cash Balance
	$23,714
	

	End. W-I-P Inv.
	(2,526)
	
	
	
	
	Retained Earnings
	6,078
	
	
	
	

	Cost of Goods Man.
	13,788
	
	
	
	
	Total Equity
	$29,078
	
	
	
	

	Beg. Fin. Goods
	0
	
	
	
	
	
	
	
	
	
	

	Goods Available
	13,788
	
	
	
	
	
	
	
	
	
	

	End. Fin. Goods
	(1,590)
	
	
	
	
	
	
	
	
	
	

	Cost of Goods Sold
	$12,198
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	


1$420 + $3,900 = $4,320 (No. 2 and No. 12)

2$768 + $8,640 = $9,408 (No. 4 and No. 14)

3$264 + $2,970 + $432 underapplied overhead = $3,666 (Nos. 5, 15, and 22)

4$480+$768+$24+$210+$4,800+$8,640+$240+$2,400= $17,562 (Nos. 2, 4, 7, 8, 12, 14, 17, 18)

5$144 + $1,560 = $1,704 (No. 6 and No. 16)

Predetermined OH rate:


$3,300(1,000=$3.30








